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30T LOPH
2020
LOGIC AND PHILOSOPHY
Full Marks : 100
Pass Marks : 30
Time : Three hours
The figures in the margin indicate full marks
for the questions.
Q. No. 1 carries 1 mark each Ix12 = 12
Q. No. 2 - 13 carry 2 marks each 2x12 = 24
Q. No. 14 - 23 carry 4 marks each 4x10 = 40
Q. No. 24 - 27 carry 6 marks each 6%x4 = 24
Total = 100
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1. Give

very short answers : 1x12=12
5% 53 Tex WA ¢
(1) What is the essence of Induction ? | 1
' I E THY {2
(b) Does Analogy depend on Law of Causation ? . 1
AT Sl - [{fdT eews s FEE e
() What kind of proposition does Scientific Induction establish ? 1
ARIAE ST (@ 2PIRT B4 2fSul T
(d) 'The ground of Induction is the result of Induction’ :
— Who made this statement ? , ) 1
‘SR foferay s et
— AT (A (e 2 |
() Name the hypothesis with the help of which the planet Neptune was
discovered. : 1
T R oFeg TIATO @R A% SiRwE T (2w
(N How many instances are required for the Method of Agreement ?
1
TR AT AR (FLO! YO8 Tl 2 e
(g) Who is the Propounder of Scientific Realism ? 1
REfT ISR 4G (T2
() Give an example of Primary Quality. ' i
Yyl it Trgad @
(i) Give an example of Non-Moral action. 1
weafos feraR b1 Trzad fa |
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(j) What is the ideal of Ethics ? ' 1
e e &2

(k) “Religion is morality touched with emotion”
— Who said this ? 1

“of gF SR Wiewer”
C— IYER (I e 2
() What is meaning of the Latin word ‘Religare’ ? 1
6T *= ‘Religare’ I 5 &F2

2. Give the definition of Unscientific Induction. 2
- (AWINT 5N Agew ot |
3.  What is ‘material cause’ ? Give an example. 1+1=2

“Tome IR T2 GG Twime fAE

4.  Define ‘Plurality of Causes’ with a suitable example. 1+1=2

G5! ToATE TwRdd 7 Al FiFA I’ AL T

Or / 731
Mention two points of difference between Observation and Experiment.
: ' ~ 2
AR S AR 507 Sl Brmd 3991 |
5. Whyis 1;E'thic:s called Normative Science ? , ¥4
R T wndEs Jem 3 @[ =@
6. Give Mill's definition of the Method of Residue. e 2
ARCT AT 0T o) FRSRACG SR |
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Or / !
Give a concrete example of the Joint Method of Agreement and Difference.
2
frt Srei-loEF! AT 9o I Trrzad |
7. Mention any two conditions of a valid hypothesis. 2

QY 2R e vhr 5% T 4|

8. Define voluntary action. How many stages are there in a voluntary
action ? 1+1=2

- afoes fEFme ﬁi@tfﬁmmﬁ Ot fFare (261 W] AWS?

9. Give two points of differences between Primary Quality and Secondary
Quality.. ' 2

T4 o S (Mol Aere 4Pt 757 AL S9ITCHr |

10. Give an example of “hypothesis concerning Law’. 2
‘T Rews gw'e aft Tarae fan
Or / 72
Define ‘working hypothesis’. 2

‘PrIF]] oFE’Y R Al

11. Mention the ‘Canon of Elimination” on which the Method of Difference is
established. ; - . 2

Jfedl 2 afere @t SsEeR A Brad 4 |

12. Mention fwo characteristics of Naive Realism. 2

e AGAAME 70T (AM¥e] SSRCprl |
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13.

14.

15.

16.

17.

18.

19.

Or / 723t

Write two criticisms of Naive Realism. 2

9 ABIRMS 76! TGS SRR |

What is the theory of ‘pre-established harmony’ ? _ 2
“sid-7ifPre Wgel woam e

Write four characteristics of Scientific Realism. 4

RAEE IRV 51135 [Afey T |

What are the four stages of hypothesis ? Discuss. 4
ATH bS5 B 5 e 2 wiicamnAl T4 |

Give four characteristics of Hegel's Objective Idealism. : .4
(AR TEAY OIRAMI 57957 AT SHSRCHH |

Mention two advantages and two disadvantages of the Method of Residue.

2+2=4
AR AR 75y IR =S 7o SRl BrEd ¥4 |
Or / 72
What is the ‘Characteristic Imperfection” of Method of Agreement ? How
can the problem be overcome ? 2+2=4
SR} AR AFfosTe wejefel’ e 7 Sl (AL i PR AA1f 2
Write any four characteristics of Analogy. 4

AT SN Rl 515! ey B

‘Positive and Negative conditions both taken together produce the effect.’
— Explain the statement. 4

Wmmﬁwwmmmwam—m
— FYER IR 10|
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20.

21.

.

24.

25.

“Esse Est Percipi” — Explain briefly the statement. 4
“oifey eorF 3”7 — AT YT [ 4|

Or / 733

Define Berkeley’s Subjective Idealism. Is Berkeley a Solipsist ? 2+2=4
IR wgsre SrEmA el W@l | AFE gom SR 7 2w e

Is Ethics a practical science ? Explain. | 4

A s A i e e e i 911

‘Religion is the source of Morality.’ ‘
— Explain the statement. 4

“f] #1R NS TesAle” — AR [ A |

Write four characteristics of Religion. 4

w1 55! aRE Bt

What is Scientific Induction ? What are the characteristics of Scientific

Induction ? 2+4=6
ST I I @12 (IS Sisiag @RehE & e

Or / 123t
State any three similarities and any three dissimilarities between Scientific
Induction and Unscientific Induction. . 3+3=6

T ol I SR ST WSS A [Fee [ A
folapy @ e 111

What is Simple Observation ? Describe its characteristics. 1+5=6

Tl P @I ? WA CRRERTR S <)
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26.

27.

-Or/ﬂli?f

Define ‘Cause’. Write the Qualitative and Quantitative marks of ‘Cause’.

+5=
‘FIRY igeml a1 RO welore T ARG TR G 1 5-6
What is a ‘hypothesis’ ? Explain the nature of hypothesis. 1+5=6
4T FIF @2 SFHI Ao Gyt T
Or / 723
What are the different kinds of hypothesis according to Stebbing ?
Discuss. 6

@Ry e goER [Risn aoRER & e oAt 3=

State Mill’s canon of the ‘Method of Concomitant Variation’. Explain the

limitations of this Method. ‘ 2+4=6

TRARTEG AU TIE ferR 779 Tomd $41 1 R AT SrpReeRR [ e
Or / 73t

Explain the Method of Difference with examples. ' 6

TR WO AT I w0
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